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Intro

Today we will a"va learn a™1 91 of v11 noon
Some of the topics we will learn about include.

DMYN RIR NRMIO
A continuation of the question regarding omva yw nxnio

Does the nxnio of omyn ywx apply even to aviy, its air space, Rm]J n1mn 1N ? R1’1R D]\’JD
or only to nwn, the ground? n’b}, 1972 n’b}’ 17T

The Machlokes a1 and amint 2" ror a1 regarding
JTan1 na'n NT'wa 0'yvn YWN'] 01DIN

xXnon N

A who person enters omyn ywx while in a box,

2
Apd the Gemara’s in'itial understanding that they n Dl’n YﬂNI’ DJDJn
disagree in the question of omyn yw nxaio I?TJD’ n:’n n-r’w:

The Gemara's three other approaches that they disagree

in

JNN NMY pNT NN

OR they disagree in

XN'Y KT 2"'UR

|27 "2 NTa

Whether the avra of omyn yw applies even to a person in a
. n1w, which is NOT common?

OR they disagree in the mvr of ONR DMWY Pt HNIR

DY 12NI1 IR KRNI KDY

NNOW XROT 2"YXR
1227 722177

QWY 1217 VR RN KDWY

Some of the terms and concepts we will learn about
include

FRigent

If a axniv apn ww a1, an item that CANNOT become xno,
is a nov above a nn, it’s considered a 9nx and is 192 yvin
nnnion, it becomes a barrier against the nxnio that is
beneath it, so that a person or utensils above it do NOT
become xno. 2197 bﬁ N
However, there is a Machlokes if the axniv 1apn e a1 was I !

pT, in motion, is it considered a 9nx or not?

One opinion is

JNN DY KT PNT TR

Anything that’s moving is NOT considered a 4w, and is
NOT a axxn. Therefore, the nwia nxniv CAN penetrate the
box, and the person DOES become xno.

However, one opinion holds that it depends;
NN DY KT PNT TNR
Is only if the pnr snx is moving on its own. However,

IR 'Y PINT SRR
' If the pnr snx is being carried by a person or anma, through
which it’s connected to the ground, it IS considered a 5nx
and a nvyn. Therefore, the nwia nxniv CANNOT penetrate
the nmv, and the person is mo.

wn

NPT
Vedlesl;el .
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. yaixn

A Metzora is a person who has developed a white patch
on his skin, which must be examined by a Kohen.

naon m'

If the nvx is inconclusive, the Kohen first puts him into )’ﬂ’xn
confinement for seven days.

nna m* Or 1v19n Nt

If the Kohen then sees the v again and rules that he is
xno, the person becomes a vanm yaxn, in which he is sent
out of the city and he must wait until nn, the nyx goes
away.

no'o m'

After the nyy disappears, a Kohen goes out to him yinn
minny and performs the procedure of the two birds, one of
which is slaughtered and the second is sent away. The
Metzora then shaves all the hair of his body and
immerses in a Mikva. He waits seven more days, at
which point he shaves again, and again immerses in the
Mikva. On the eighth day, the Metzora brings the nmp

WOV NTI PR

A Nazir cannot shave a growth of less than 30 days. n” ’bD n’nD

1VION M ¢ 1A M

19970 M)

Dedicated By: DafHachaim.org Nazir 55-2




Dedicated By:

maTMm

1'02
So let’s review ...

The Gemara in the previous Daf raised the following
question:

N7 XA

Dmyn YR

N"Y NTA XY'IX DIVN

NV NTA NI DIV IX

Does omyn yw niniv apply even to its air space, or only to
the ground?

As Tosfos explains;

If we say

N"Y NTA XWIA DIYN

NT2 XWI2 Y TR XIT

nnn 'y RN md

One becomes xnv only through van, contact with the
ground, or when he is directly over the ground, as in the
case of a nn. However, there is NO nxniv from the air.
Therefore,

J7an1 N2'N NT'WA 1N

n'vOl IX NP IR

x4

If someone enters in a box, wagon or boat, he does not
become xnv, because the box acts as a barrier - since it
CANNOT become xno - and he was NOT ynxn over the
ground.

The reason is, because the Chachamim initiated the mma
only in cases where there WOULD be nn nxniv;

J1an 'nn 9N

5"In2 MY XM AN 1en Ik

The Chachamim were concerned for unmarked graves of
those who died in the 9an, or at other times.

However, if we say

Ny NTA XV'IX DIYN

One becomes xnv even in a

N1'901 IX |NPA IR JTan1 NN AT'Y

Where he is NOT 4ynxn over the ground and would NOT
become xnu in a case of an actual grave. However, he
becomes xno from the airspace of omyn v, because, as
Tosfos explains;

5"InY yaxn RY' K99 11> NN N NN

The Chachamim were stringent with omya yw to prevent
people from leaving Eretz Yisroel.

The Gemara now goes on to suggest that this question is
possibly a owan npiann in the following Braisa.

J7an1 N2 NT'WA DMYN YIRYT 00N

Xnon N

anun NTIN' '27] ol NIl

If a person enters omyn yw while in a box, a1 rules that he
becomes xnv; while aminr 1112 rorr 0 says that he remains nv.
The Gemara at this point believed that their reasoning is
as follows:

NXnon N

Because he holds

XX DIvn

The person becomes xnv from the airspace.

anun ATIN' 27 ol NI

Because he holds

NYI2 DIvn

oy yw nxnio is NOT from the airspace but from the

ground, and in this case he’s winv, because there’s a barrier.

DafHachaim.org

RYAPT PN DN

RV DIVN R (¢
79 170
Applies ONLY to
the ground?

RIMR DIVD
oY 1M
Applies EVEN to
its air space?

One becomes Rp»
evenina

1 HEN DY D0HNa HM7
DND SV 0HNE M>
57071 93D O7E3 53H 2730 DD O7E
P53 1P 11903 1P D30P3 ¥ NP3 P

o) Where there is no

The Chachamim initiated concern for 0 NRMIV

the N7 only in cases where
there would be ND NNMIL

The Chachamim initiated
the N7 because...

DHN DY 1PHNO
515 1951 H9 HOE 175

Pl P

b3 N s Qnpn ?'\R'? (=hpmhiy

I 1293 01 139 =0
N Yl

AUk pi
and in thiy case he i >0

because there’s a barrvier

S p1y
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The Gemara answers that this is not necessarily so, and
the Machlokes can be understood in three other ways:
1.

XWIA DIwn XNy DT

Perhaps, both agree that the axnwo is from the ground.
However, they disagree in

T IR

If a axniv mpn ww 1T, an item that CANNOT become xno,
is a nou above a nn, it’s considered a 5ax and is 191 yxin
nxnion, it becomes a barrier against the nxnio that is
beneath it, so that a person or utensils above it do NOT
become xno.

However, there is a Machlokes if the axniv 1pn 1w a1 was
pnT, in motion, is it considered a 5nx or not?

Nnuon 21

Because, any

NN MY X T IR

Anything that’s moving is NOT considered a ', and is
NOT a nx¥n. Therefore, the awn nxniv CAN penetrate the
box, and the person DOES become xnu.

However,

ANnuN NTIN' "2 'Ol 1N

Because he holds that it depends;

AR MY X T IR

Is only if the pnr snx is moving on its own. However,

IR MY N7 TR

If the pnr s is being carried by a person or anma, through
which it’s connected to the ground, it IS considered a sx
and a nw¥n. Therefore, the nwia nxniv CANNOT penetrate
the am, and the person is vmo.

We see this distinction in another Braisa where

NTIA' 27 'ol' AN rules

nnn 19 9 NPT DY ARTR XY N2

nxXno

If a box filled with utensils was thrown over a nn, the o
become xnv, because the box was thrown and moving on
its own, and therefore

AR MY X T IR

However

nnim nn'n oxi

halhlvl

If the nan was stationary, which as Tosfos explains means
that it was being carried by a person, the o*» remain o,

because it is NOT considered a pnr 9w, and therefore nmw

NN,

DafHachaim.org

The Yemars answers

fwz‘wwmmwuﬂ/w...

1
NLNI DI 81Oy 9199

However, they disagree in

Pt NN

Ifthe 5NN was in motion
is it considered a 50N or not?

M 1392 701 121 2"
plptiia) Yalala

bk oyl £ prog ok
f% the b i moving
i@ i not w222
7%%%%@;%@3&AA¢W/

caw penetrate the boy,
and the person becomes il

208 b 244 Y
/, /
A ol b pyY4 4
Z/a‘ﬁoéz/w On/y%f/wﬁt
éW carro b movi
it i consideved — ow ity owm
conmected to the
?//om/
The 2k ol cannot penetrate
the boy, and he iy >0
Ay we see i another Braisa
D3/’ DI 0f D)
0% NIRYN RNW NN
NN NN OR) N 1D HY NPIN
NNV RNV
The boe wass maving on ity own

A Il t&wj b
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2.

OR we could explain the npiann as follows:

xn'y T

RKY'IX DIUN

Perhaps both an and amnr 22 or 1 agree that there IS axnio
from the air. However, they disagree in whether the nvna
of omyn yw nxniv applies to a person in a box.

NXnun N

Because

XNDW X972 UKR

|22 N N7

The nvna applies even to a person in a box, even though
this is NOT common.

While

ANnvN ATIN' 27 oI AN

Because

NNDY KIT 1D

1M NNl

The mma only applies to a person in a jng, a wagon, which
is common; but does NOT apply to a person in a a1y,
which is NOT common.

As we see in another Braisa which states
J7an1 N2'h NT'WA D'RYN YﬁN'] 01NN

alhlv)

Because

NTa X7 XNOW N7IT XNI'N

However

NM{I0'NAI N1'D01I [N

Xno

Because

NTA XNDYT XN'IN

3.

The Gemara offers a third understanding of the
Machlokes:

XWIA DIYN X'y T

And both agree that

IR MY 3T TR

And it protects him from the nwix nxnio;
However,

xnvn a1 even 1mni natn ntwa because of a i of

DY NI IR RXI' KDY

He might lean out of the a1, and be waxn over the
ground.

However,

Anuvn NTIN' '2M ol N

J7an1 NN NT'wA

Because there is NO concern for

DY 2N1 YR XXI' KDY

Because the nmv is usually closed; however,
N'jJ0'X2I N1'901I NP

Xno

In a carriage or boat he DOES become xnu, because there
IS a concern for

DY 12N1 IR RXI' KDY

Because these are generally open.

We find this nvn in another Braisa where
N7 M 'or a1 Says

ITan1 NA'N NT'WA DAY YIRT 00N

12N IX IYNY DY R'NI'Y TV 1IN0

DafHachaim.org

2
NN D NabY S

However, they disagree in whether
the NI°T2 of DMYN IR NIRMV
applies to a person in a box

MM 272 0% 127 29
plpiera jalialal

ool i KV
/97 DA /7j/€

ol kg V&
I PP I t/

Ay we see in andther Braisa
-DMYN RIRY DN

2’502 NP2 N2°N NTOW2

RNV - RMIPOIRI MV - HTID

Because

Because
g ol ol 1ogs i okl s fonlil

3
NN DI NiabY &1

BN e 1 SN

M 1393 01 127 29
plpiela Napn

b3 N s S ma0n e

Vol e
ol 1o 1> i3y ol

He might lean out of the >34,
and be fop over j/om/

/L(JW@!/@I. .

NDO PIP2
NPV - RPN

V&%
Pl 10 106> 3y fll

Ay we see in another Braisa
D3/’ DID 10/ D)
DIYN RIRY 011N
NNV - HTIM NN NTIV2
1217 IR TORI QWD RINPY TY
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The Gemara continues explaining the previous Mishnah
which taught various cases where;

nYan VTN R IR Y

The Nazir does NOT shave his hair, nor bring Korbanos,
even though he became nn xnv.

The Mishnah continues

'yawval 'wwa nmi

He purifies himself with nxon m on the third and seventh
day.

D'MTIPN AR NI 'R

T nami rnnni

His previous days of nnim are NOT cancelled; and as
soon as he becomes ~inv, he continues the count.

However, as Tosfos explains

171"y 'R

The Mishnah implies that although the days BEFORE
the nxniv ARE included, the days DURING the nxnio are
NOT included in the nnm pain. But rather

T Nami 'rnnni

As soon as he becomes v, he continues the nnm pan.

Now, it must be pointed out that in a case of nn nxnio,
clearly

17 "3y 'R INRNI0 '

Because a Nazir is nn nxniva 1iox;

Therefore, although in our Mishnah’s cases i nan
anio, but the days of axniv CANNOT be included.
However, in a case of vn,

x1on 11 makes the point that

17 "3y INRNI0 '

Because a Nazir is yuyn nxnioa anm, and the days of axnio
CAN theoretically be included.

Therefore, x1on 21 makes the following distinction:

noyin nN'rTaa

171"y 'R

In a short nnm, where he does not have 30 days left to the
end of his term, the days of axmiw CANNOT be included,
because of a practical reason. As Tosfos explains, the yaxn
must shave his hair twice, once after nma m' and a second
time after nso mr, and

or " nine W I 'R

A Nazir cannot shave a growth of less than 30 days.
Therefore, he must keep another 30 days for his hair to
grow in.

However,

mnn NN

"7 'ph0 a pom

In a longer nm, in which there were 30 days or more
remaining after yuxnn mno,

117 11y, the nna meo m' ARE included in the nim i, because
his hair will grow in during the final 30 days of nnm.

This discussion continues in the next Daf where the
Gemara refutes Rav Chisda’s ruling from a Braisa.

92 IR PR AR 500

YT AR M0 NN wroRa M
T M rnm W

Hispreviousdaysof ~ He purifies himself
M1 are not cancelled; with DNDD M
and as soon as on the third and
he becomes NN, seventh day
he continues the count

However, as Tw%ay epluiny. ..
0 POW PH
Although the days before the nNDW are included,
the days during the nnm» are not included in the pon
N

799 DM HNHM
As soon as he becomes nnv, he continues the M1 pan.

Ina case of
nn NRMO
1D PO PR INRDID 1
Because a Nazir is
NN DNPIDI NDR;

Ina case of
YNRD

NTDN )
points out that
15 pHI RO M
Because a Nazir is

DINND DNDID2 MM

£300

A1 MM
9 150 1 P
Inalonger MMM,
where there were 30 days
or more remaining after
DNNDN MY,
the D) 1NOD M) are
included, because his hair
will grow in during the
final 30 days of M1
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DY NN
1o N
Ina short MM,
where he does not
have 30 days left to the
end of his term

the days of DNDID
cannot be included
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